Harvard Forest Data Archive HF402-01
Data File:

Name = hf402-01-uncleseths—age—data.csv

Description = age data

Rows =9 Columns =10

MD5 checksum = 2bcca979409674de5bab39fa920b105d

Variables:

X14C.age = radiocarbon date (dimensionless)

X14C.error = analytical error for radiocarbon date (dimensionless)

d13C = d13C value for radiocarbon sample (dimensionless)

Bchron.50 = median calibrated age for radiocarbon date; determined
with Bchron (dimensionless)

Bchron.2.5 = lower uncertainty range for calibrated age
(dimensionless)

Bchron.97.5 = upper uncertainty range for calibrated age
(dimensionless)



Variable Min Median Mean Max NAs

X14C.age 1470.000 6840.000 6518.571 11500.000 2
X14C.error 25.000 55.000 53.571 90.000 2
d13C -28.730 -25.920 -25.283 -22.580 2
Bchron.50 -61.000 4879.000 5710.556 13342.000 0
Bchron.2.5 -61.000 4849.000 5625.333 13152.000 0
Bchron.97.5 -61.000 4963.000 5834.667 13502.000 0
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